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Warm-up: The lengths of 2 adjacent sides of a parallelogram ABCD are 16 ¢mand 20 cm.
Find the length of the longer diagonal to the nearest cm, if the angle between the two
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To findan angle of a triangle that does not containa right angle:

c? = a%+ b?- 2abcosC —» where Cis the angle opposite the side that you need.
For each problem, draw a diagram and solve. nol
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4. Jedisworking on a stained glass project and needs to forma triangle with sides of 8,
12, and 15 inches out of lead cane to enclose the glass. To the nearest tenthof a
degree, what it the largest angle he needs to create using the lead caning?
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Finding the Arca of o Triangle (SAS)
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For each problem, draw a diagram and solve:

1 InAABC,mZA=150°b=8,and c= 10. Find the areaof AABC.
=

C K= 7 (8)(10) sin 150°
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2. Inparallelogram ABCD, AB = 20, AD = 10,and m£A= 45°. Find the areaof the
parallelogram rounded fo the nearest fenth.
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